52 Thermaltake EAHuL, EAN SimTools FIETIRE4R, RBISSIHA 8 BRIRFIETTH
TR, RIIRRE, ZAGEEETIE—EFH SimTools FEELREEM Email 558, EE, BFER
ZFEIREIE SimTools EARREH THFRERE, WIEZUEIA SimTools FIEZERS

IREER, ARREMAFRBRET, FHEEEMN Email It EREIERE, EREREEZE
BFIRERIE, ERIUKHNEE, FERRREELNEREERS MBS REBEE®E

Please visit the Thermaltake official website and access the SimTools redemption system.
Follow the instructions to enter the 8—digit redemption code and complete the process.
Upon successful redemption, the system will automatically send a new SimTools code to
your registered email address. Next, use this code to visit the SimTools official redemption
page and complete the activation process, officially enabling SimTools’ professional

services.

Please ensure that the email address provided during the redemption and activation
process is valid and accurate to avoid missing important notifications or the delivery of the
code. If you have any questions or issues, refer to the FAQs on the redemption page or

contact the customer service team for assistance.

BZE Thermaltake B MG, #HA SimTools BSR4, RIBIESIMA 8 MM <iEFS
SRk, AINSIRE, RAEHEMKRIE—EIHH SimTools FSELHEM Email (558, #5,
BIERIZFSEI{E SimTools BA RIRRETHRFSHERE, HIEXNSA SimTools EWIRS .

IREE, ARBRSHEFSIRET, BHREREMH Email ItEREIER, BEREREEN
BHRFSKRE. HEETLOHERE, BS5RRIE EAE o AR E s R = REAIRE M .

)" thermaltake

GMS 3DOF

Motion System

Assembly & User Manual

www.thermaltake.com

HE & ERFM
Hix & AR




/\ EN

Assembly Recommendations
& Warnings

e It is recommended to have at least two people working together for
assembly.

e It is recommended to have three people lifting the simulator to a height
of 20cm.

e Do not connect the power supply until assembly is complete.

e Under no circumstances should you position yourself directly above the
motor column to avoid accidental injury.

e During adjustment and wiring of the control box, press the emergency
stop switch to ensure safety.

e When using the motion system, ensure the surrounding area is clear of
obstacles.

o Stop the motion system via the software interface or emergency stop
switch and confirm it has fully stopped before leaving the simulator.

e Do not disassemble the motor column or control box unless you are
certified factory personnel.

When the total load exceeds 200kg (440lbs), please limit continuous
gameplay to no more than 4 hours to prevent slower motion system
feedback and increased wear on internal components.

SPECIFICATION

Payload

/A\ CN (&)
AHEEIER&ERE

o ABFEFH2 AL EHEIRE,

o EREEERHE20cmMBBFERIARE.

- ERESTHRZBIEDEZ LEBIR.

 EEAER T HEEBEALE LU RIEREM

. EREREGREGE, FRTEELRBRRRS,

- ERERRGEEBRTFEEE .

- BERRE, FELBBRRHNFERENTR MELERRZRT
ZRE1LEER, BRIRRREFIEASLABERESR,

. FEBEXASFEDIFBB/EE . ZH=.

ERREBIB200kgk, BIEHIEEERSETEBBANGE, iR
EAHRETREBESSHNIB RGO ESIENNBTHER.,

FRIS

BEERE

1

Detach the anti-tilt components, but keep
the sliding nuts in the slot for later installation.

HTRES, REBRESEERN.

&0,

ORGF
7. i N
/ ) N
, )
= \
! i
v
vl !
A ! 2
< i 7
AN I

N

300kg / 661lb

Product weight

Max power consumption

27kg / 59.5lb

Power requirements

1.2kW 220V/5.45Amps,110V/10.9
Amps

Power supply requirements

110-240 VAC (Manual switch)

a#HE 300kg / 661lb
ERER 27kg / 59.5lb
1.2kW 220V/5.45Amps,110V/10.9
BRI
Amps
BIRT 10-240 VAC (Manual switch)

A (x4) J (x16) K
M8 Lock Nut USB-A to USB-B Cable
WEEA 3= USB-A®USB-Bf##ix

L

Power Cable
(US, EU, UK, and Australian plugs are included.) Smm 13mm
BIRR

(BiE=E, BiE, 24E, Wb, )

Connection USB | Ethernet EESH USB | Ethernet
Maximum velocity 250 mm/s BAEE 250 mm/s
Maximum acceleration 04G BARIEE 04G
Actuator stroke 100 mm/3.93in 1712 100 mm /3.93in
Latency <5ms FEE <5ms
Maximum control frequency 1000 Hz RAREIEER 1000 Hz
Vibration frequency range 0-100 Hz IRENVEREE 0-100 Hz
C (x4) D E (x4)
Connector Emergency Stop Foot Pad
BiERS & 23ER Ha
5 om
B F (x16) G (x8) H (x16) 1 (x16)
(iontﬁ)l Box M8 Sliding Nut Cable Clip M8x16 M8x20
=HE M8iBIRIRE AR

S——

M (xT) N (x1)

0 ]

’ N
/ N
1 ﬁ \
1 I
\ 1
\ 7.

N 7

~ -




()
G0

(]
a
o
0%

VA \fh

\
A =
’ 1 /c
! L=
2 NN ! A Q)
N ) //
X / S0 e \
2 Q//\ N / Y,
2 5 e ,
| ARG o
“ *, O E—
| 4 R\
! 9 N
1
1
1
1
1
1
1
“ J— 9] AD@ wwoz
I v <
1 =0 9% AAtU
1 .=
1 wﬂmm o -
| s8ec S
! SO0 o H Qo
N 9920 ¢ KH oa
“ 962 MM
’ o = © g0
/ N X g £ iz
! Sl s8=38 A OF
| R G__ 290 I 2k X
N N 228 TH
\ NN h Q9 n
\ NN s o c 8 o ___55
\ 9@\ %.O..&h
O~ - OV, 2 Hmﬁﬁ
A__ Qg O H X
o QF & b=
2e+3 g
R -
\ el S 035 e
AN T2 B
\ c o 2 )
\ 230¢a i
! ermr, <7
ESc 8
EC DO
0 3>cE 3
s EcE
rscs
.BeOe
25 S

FEMA IRk RS,

RSB IR ER

dynamic system'’s base.

8
9

\\\ I//
~
N
\
\
\
\
_”G @ |
1
|
I
1
1
/
/
/
/
7’
/// \\\
\\\ II/
N
\
\
\
\
x \




® o

:
1 o i .
o ! RIGHT FRONT = > RIGHT REAR
! " <
! agl "—(@ RIVE LaE
i
| fe
; H
! Pedal o oo Chair
‘ g P01 - € g5
1
» e ﬂ I
T I
T 1
~ 1
s d%\o i LEFT FRONT LEFT REAR
Prad 1
Il§ : =R G G N EE
) | "
i
i
1 - - -
! Lighting Instructions
i 1. Two white lights (A1 & A2) : Power is working normally. (No action required)
i 2. Green light (B) : Device is operating normally. (No action required)
3. Red light (C) : Emergency stop is activated. Release the emergency stop
button to its normal position to restore device operation.
%— 4. Red and green lights (B & C) flash: Missing parameters. Contact the place
11 of purchase for assistance.
Meds —=
- CE D
- 1. MEEE (A1 &A2); BIREETI(F. (EFRE)
2.4%)% (B): REBEBET. (EHIRE)
34118 (C): RIEEME . HIFRMIREZEEMEUREREET,
4. 41478 (B & C) P9, 2HEX. BHERERENR.
@ WY" thermaltake
pPC
H RIGHT FRONT  LEFT REAR
| ® o 92 @ 1" e
=l
@ O‘i ?9 E-STOP E}ELE E}U
E o iy © ©

2
o ooolooo

RIGHT REAR  LEFT FRONT

imi)

1

o —
= =
\

altake %

h' they

m
———f




	页 1
	页 2
	页 3
	页 4

